Séllskapet, Ronneby
Torsdag. Hcp o jour 2023-03-09

Partavling, 8 bord, 16 par. Antal brickor: 24. Medel: 168.0.

Plac Par Poang % Namn MID Klubb
1 16 192.5 57.30  Alf Séderstam - Britt-Mari Wernersson 57939 57940 Séllskapet, Ronneby
2 7 189.6 56.44  Michael Broad - Lars-O Carlsson 78891 39470 Séllskapet, Ronneby
3 12 189.6 56.43  Inger Rosenstrdm - Thomas Rosenstrom 48483 48484 Sallskapet, Ronneby
4 8 188.8 56.20  Siv Berding Tillborg - Birgitta Wohlin 66912 57889 Séllskapet, Ronneby
5 14 185.8 55.30 Jeanette Karlsson - UIf Lundin 34809 57386 Séllskapet, Ronneby
6 4 178.5 53.11  Nils Ingmar Thorell - Hans Thorell 35173 22030 Sallskapet, Ronneby
7 6 166.1 49.44  Mats Persson - Olle Persson 17322 43665 Séllskapet, Ronneby
8 10 165.3 49.20  Jan-Erik Wildros - Agneta Wildros 43820 43819 Séllskapet, Ronneby
9 1 162.3 48.30  Tyrone Carlsson - Nils-Arne Karlsson 61128 34803 Sallskapet, Ronneby
10 5 161.6 48.08  Bo Brorsson - Jan Martensson 57885 201749  Sallskapet, Ronneby
11 2 160.7 47.82  Birger Trellman - Yvonne Trellman 66932 66931 Séllskapet, Ronneby
12 13 157.8 46.98  Birgitta Strand - Barbro Sandin 57902 93331 Sallskapet, Ronneby
13 9 156.6 46.59  Jan-Anders Palmqvist - Ronny Pettersson 58166 57938 Séllskapet, Ronneby
14 11 149.2 44.40  Astrid Adholm - Marie-Louise Alm 93320 28788 Séllskapet, Ronneby
15 15 143.7 42.77  Anne Alfredsson - Stig Persson 610 15945 Sallskapet, Ronneby
16 3 139.9 41.63 Claes-Goran Ingvaldson - Stig Karlsson 79695 57887 Séllskapet, Ronneby
1 &« KDKn874 Bésta kontrakt 2 &« EDKn92 Bésta kontrakt 3 & Kn53 Bésta kontrakt
Nord vK2 5NT N =460 Ost vK 6v VD -2 300 Syd vD8 ANT S =430
Ingen + K62 NS ¢ E72 ov + KKn1098
#Kn6 & ¢ v & NT #Kn874 & ¢ v & NT #ED8 & ¢ v & NT
4105 43 N6 8 6 1111 & K87 41053 N 124 2 8 8 «D 4 EK109642 N 6 8 7 5 10
vDKn93 10876 S 6 8 6 1111 vEKn842 vD10653 S 124 2 8 8 v43 v Kn765 S 6875 10
1075 ¢ DKn94 O7 4622 ¢ DKn643 ¢ K8 018921 ¢ E42 +76 06 4383
#E982 #D1074 V74622 »- #652 V19 102 1 &#K976432 %- V6 4383
& E962 464 487
vE54 v 97 v EK1092
+ E83 + 1095 + D53
#K53 #EKD1093 #Kn105
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 11 44 N+1 &7 450 100 40|14 7 54S+1 +Q 620 140 00|10 5 4vDS= «Q 590 140 0.0
10 2 44 N+1 9 450 100 40(15 6 4v V-1 *4 50 120 20| 4 6 4v S= «Q 420 120 20
13 1 464 N+1 9 450 100 40| 8 11 54S-1 vA -100 100 40| 7 15 3vS+1 «Q 170 100 4.0
15 6 44 N+1 v8 450 100 40|16 12 2v V+1 «Q -140 80 60| 1 16 34 0-1 +Q 100 70 7.0
16 12 44 N+1 ¢Q 450 100 40| 3 5 2vV+4 A -230 60 80|14 8 340-1 vA 100 70 7.0
3 5 44 N-= v8 420 20 120|10 2 4v V= aA -420 30 110|13 2 3vS-1 ¢ A -50 4.0 100
9 4 44 N= ¢+Q 420 20 120|113 1 4vV= s A -420 3.0 11.0| 9 12 34 O= +3 -140 2.0 12.0
14 7 44 N= 43 420 20 120 9 4 5v0+1 A -480 00 140|111 3 4¢ N- s A -200 0.0 14.0
4 #1083 Bésta kontrakt 5 » E863 Bésta kontrakt 6 410 Bésta kontrakt
Vast v D96 3v V =-140 Nord v2 5NT O =-460 Ost vE873 3v SD-1-100
Alla + 1073 NS 4 8653 ov + 10
#Kn983 & ¢ v & NT #Kn963 & ¢ v & NT #EKKn10872 & ¢ v & NT
4KD76 49 N7 7 485 a K2 « D954 N36131 4872  EKD95 N9 3858
v 742 vKKn10853 S 7 6 4 8 5 v EK10854 v D7 S36131 vD9 v K106 S 938538
¢ Kn964 ¢ K8 06 6 957 2 ¢ EK9 O 107 111011 ¢+ K86543 ¢ ET72 049 485
#E10 «D654 V66957 #D1054 *E872 V 107 111011 #94 #65 V49485
& EKn542 4 Kn107 4 Kn643
vE v Kn963 v Kn542
+ ED52 + DKn1074 + DKn9
#K72 &K «D3
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 15 34 S= «A 140 120 20| 8 15 6vO-1 #K 50 140 00(16 2 3&«N+1 &A 130 140 00
9 12 34 S= &A 140 120 20| 5 7 4vV= +5 -420 100 40|12 4 3&#N= «A 110 11.0 3.0
14 8 14 S+2 #A 140 120 20|11 6 4vO= +K -420 100 40|13 3 3&#N= A 110 11.0 3.0
1 16 24 S= v4 110 80 60|16 2 4v V= v2 -420 100 40| 8 15 34 0-1 #Q 100 8.0 6.0
4 6 3vO-1 &A 100 50 90| 9 14 4vO+1 ¢4 -450 40 100| 5 7 44 N-1 4 A -50 50 9.0
13 2 3vO-1 &2 100 50 90|12 4 4v0O+1 &K -450 40 100(10 1 4#N- s A -50 50 9.0
11 3 24 S-2 v7 -200 20 12013 3 4v0O+1 &K -450 40 100| 9 14 34 0= *Q -140 1.0 13.0
10 5 44 S-3 v2 -300 00 14010 1 3NO+2 ¢4 -460 0.0 140(11 6 34 0= *Q -140 1.0 13.0
7 4 ED98652 Basta kontrakt 8 oK Basta kontrakt 9 & KKn542 Basta kontrakt
Syd v K2 4¢ V =-130 Vast v Kn10642 5¢ ND-1-100 Nord v Kn87 44 N =420
Alla + 104 Ingen + D10853 ov +6
»107 & ¢ v & NT #103 & ¢ v & NT #K987 & ¢ v & NT
4Kn743 410 N9 3586 4ED9765 484 N 2 10105 2 | 4E 4108 N6 46 104
v54 v E10876 S 93586 vK7 v98 S 2 10105 2 | vE52 v 10963 S 6 4 6 104
¢+ EDKNn8 ¢ K7652 O 4 108 5 7 4642 +K O 113 3 8 7 | ¢«DKn108743 +¢K2 0797 338
*E96 *42 V 4 108 5 7 *K2 #EDKn98765V 113 3 8 7 | #E3 #Kn6542 V697338
oK 4 Kn1032 4 D9763
v DKn93 vED53 vKD4
493 ¢ EKn97 ¢+ E95
#KDKn853 *4 «D10
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
12 7 4e V-2 4A 200 140 00| 1 5 44V-3 +38 150 140 00|14 11 44DS= &A 590 140 0.0
6 8 34 N= vA 140 11.0 3.0(10 14 44 V-2 vlJ 100 100 40| 7 9 44 S= «A 420 11.0 3.0
10 14 34 N= vA 140 11.0 30|12 7 3NV-2 +3 100 100 40|12 3 44 S= *7 420 11.0 3.0
3 16 44 N-1 +K -100 70 70|13 4 4aV-2 +3 100 100 40(16 4 4¢ V-2 4K 200 8.0 6.0
15 9 34 N-1 2 -100 70 70(15 9 540-1 ¢ A 50 6.0 80|13 5 34S+1 +Q 170 50 9.0
13 4 4e V= &7 -130 40 100 6 8 24 V= &3 -110 40 100|115 10 34 S+1 ¢Q 170 50 9.0
1 5 44S- v4 -200 10 13.0| 3 16 44 0= ] -130 10 13.0| 2 6 44S-1 +Q -50 20 12.0
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11 2 3NS-2 +8 -200 10 13011 2 3#0+1 ¥3 -130 10 130| 1 8 44S-2 +Q -100 0.0 14.0
10 » EKKn98 Basta kontrakt 11 K6 Basta kontrakt 12 K7 Basta kontrakt
Ost v E864 44 S =620 Syd v E983 34 V =-140 Vast v K6542 54 V D -3 500
Alla + K64 Ingen ¢ 753 NS + KD7
«D & ¢ v & NT #E1084 & ¢ v o NT #DKn3 & ¢ v & NT
«D3 41052 N 4 4 10106 4D105 4EKn832 N546 44 4 Kn1098632 4 E5 N7 9 85 10
v Kn5 v K10 S 4 4 10106 vKD4  vKn7 S546 44 v 1087 vD3 S88959
4109753 ¢ EKn2 088336 ¢Kn82 ¢ K964 088798 ¢- ¢ EKn854 053383
#EK96  #108754 V88336 #KD53 #Kn7 V88798 #1085 *K972 V53383
764 4974 «D4
vD9732 v 10652 v EKn9
+D8 ¢ ED10 + 109632
#Kn32 2962 *E64
Par Kontr ut Res Poéang Par Kontr ut Res Poéang Par Kontr ut Res Poang
7 9 1laN+5 T 230 140 00|11 15 44 O0-1 T 50 140 00| 1 4 5&V-4 v2 200 140 0.0
12 3 24 N+2 &7 170 90 50| 5 16 24 O= v5 -110 100 40|13 6 3vyN+1 «A 170 11.0 3.0
13 5 24 N+2 &7 170 90 50| 8 10 24 O= v6 -110 100 4.0|14 12 3vy N+1 «A 170 11.0 3.0
14 11 1a N+3 &7 170 90 50|14 12 24 O= v6 -110 100 40| 3 7 3vN= A 140 70 7.0
15 10 24 N+2 &5 170 90 50| 2 9 INV+1 8 -120 6.0 80|11 15 2¢vN+1 «A 140 70 7.0
1 8 1aN+2 ¢A 140 30 110 1 4 24 O+1 5 -140 30 1101 2 9 2¢vN-1 s A -100 3.0 11.0
2 6 34N= ¢A 140 30 11.0|13 6 24 O+1 v2 -140 30 110| 5 16 4v N-1 s A -100 30 110
16 4 1a N+1 &7 110 00 140 3 7 INV+3 3 -180 0.0 140| 8 10 4vy N-2 oA -200 0.0 14.0
13 a5 Bésta kontrakt 14 452 Bésta kontrakt 15  EKn4 Bésta kontrakt
Nord v 10742 4¢ O =-130 Ost v KDKn1053 44 O =-420 Syd v 10862 4e V =-420
Alla ¢E Ingen + D105 NS +973
#DKn108642 & ¢ v & NT +D6 & ¢ v & NT #D95 & ¢ v & NT
443 « EKKn1087 N 103 4 3 8 4EK86 410743 N356 35 «D7652 4K1098 N56 534
vE953  vDKné6 S 103 4 3 8 v- v E842 S35635 vK9 vD753 S56534
¢ KD965 ¢ 1074 O3 108 9 5 + K762 ¢ Kn4 O 107 6 107 ¢ E10 ¢ Kn42 06 5 7 108
#95 »3 vV 3 108 9 5 #K10954 #E32 VvV 107 6 107 #E432 #K6 V6 57 108
« D962 « DKn9 43
v K8 v 976 v EKn4
+ Kn832 + E983 + KD865
*EK7 *Kn87 #Kn1087
Par Kontr ut Res Poéang Par Kontr ut Res Poang Par Kontr ut Res Poang
16 6 3#aDN= 4A 670 140 00(16 6 3v N= ¢J 140 140 00| 4 11 44 V-2 *5 100 140 0.0
9 11 44 0-2 #A 200 120 20| 3 10 2¢v N= ¢J 110 120 20| 2 14 44 V-1 9 50 120 20
3 10 44 N-= A 130 90 50| 4 8 34V-1 vK 50 100 40| 3 6 24 V+l 7 -140 6.0 8.0
4 8 4&N= A 130 90 50| 9 11 3vyN-2 *A -100 80 60| 5 9 24V+l v6 -140 6.0 8.0
1 14 340-1 #A 100 6.0 80| 1 14 3+4V+1l #Q -170 40 100( 7 16 34 V= ¢3 -140 6.0 8.0
2 5 240= 2A -110 40 100 2 5 34V+l vJ -170 40 100(10 12 24 V+1 v¥6 -140 6.0 8.0
12 15 34 O= *A -140 20 12012 15 34 V+1l ¢vK -170 40 100(15 1 24 V+1l ¢9 -140 6.0 8.0
13 7 24 O+2 #A -170 0.0 140(13 7 4aV= vK -420 00 140|13 8 4aV= o7 -420 0.0 14.0
16 4653 Basta kontrakt 17 410873 Basta kontrakt 18 & K652 Basta kontrakt
Vast vKn76 3v V =-140 Nord v KKn8 3NT O =-400 Ost vKD 3v O =-140
ov ¢ KD95 Ingen ¢ EK7 NS ¢ Kn1087
*E54 & ¢ v & NT «D73 & ¢ v & NT «K109 & ¢ v & NT
« EKn108 «D7 N26 455 » 964 » EKKn5 N4 4434 «D8 « EKNn93 N6 4456
v E832 vKD9 S$36455 v D107 vE93 S$33333 v 642 v Kn1083 S53456
.- ¢Knl10642 O 107 9 8 8 ¢85 ¢ D10962 089899 ¢ EK96532 ¢ - 079987
#D10732 %986 vV 107 9 8 8 #EKKN92 #6 V89899 *6 #ED543 V79987
& K942 4 D2 41074
v 1054 v 6542 vE975
+ E873 + Kn43 +D4
#KKn 10854 #Kn872
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 8 3NV-1 +9 100 140 00(14 3 3NV-4 3 200 140 00(11 1 3NO-1 v5 50 130 1.0
3 6 Pass 120 20| 4 7 24 0-1 &5 50 80 60|14 3 3NO-1 v5 50 130 1.0
5 9 INV= v6 90 100 40| 5 12 INO-1 %4 50 80 60|15 2 2¢V= vK 90 10.0 4.0
7 16 2¢ S-2 v8 -100 80 60| 6 10 2¢ O-1 &5 50 80 60| 4 7 3¢V= vQ -110 6.0 8.0
4 11 264V+1 v6 -110 50 90|13 9 3NO-1 «Q 50 80 6.0| 6 10 3¢ V= a5 -110 6.0 8.0
10 12 2y V= *K -110 50 90|16 8 2¢ O-1 «Q 50 80 60|16 8 3¢ V= vK -110 6.0 8.0
2 14 INO+1 44 -120 10 13.0|15 2 24 0= v6 -110 20 120 5 12 INO+1 5 -120 2.0 12.0
15 1 INO+1 3 -120 10 13011 1 24 0+1 4 -140 0.0 140|113 9 3NO= a4 -400 0.0 14.0
19 48543 Basta kontrakt 20 4 E42 Basta kontrakt 21 47653 Basta kontrakt
Syd v KD5 24 S =110 Vast vE3 24 V =-110 Nord v Kn8 5v N D -1-200
oV ¢ EK Alla + K1065 NS + D104
+D986 & ¢ v & NT #Kn873 & ¢ v & NT #9852 & ¢ v & NT
» K6 «ED2 N7 7686 « KKn9653 438 N6 6 5 4 6 | «EKKn10942 D8 N9 6 103 3
v10832 vE976 S776 86 vD vKKn9842 S 6 6 5 4 6 |v104 v D52 S 9 6 103 3
+ 876 ¢ DKn10 066756 ¢ Kn73 ¢ ED8 O7 7 887 |+K3 ¢ Kn9852 047 31010
#EKN53 #742 V66757 *E65 *D92 V667 87 |#E4 #DKn3 V 3 6 3 106
+ Kn1097 « D107 a-
vKn4 v 10765 v EK9763
495432 ¢ 942 +E76
#K10 #K104 +K1076
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
12 2 29v0-2 &) 200 140 00| 9 16 3NO-2 v5 200 140 00| 7 2 44V-2 vJ 100 130 10
14 4 INDN= +Q 180 120 20| 5 8 3NV-1 3 100 100 4.0(13 11 44 V-2 v8 100 130 1.0
7 11 34 S= v2 140 100 40| 6 1 3v0O-1 9 100 100 40| 6 9 4v V-1 vJ 50 100 4.0
9 16 24 S= vT 110 70 70|12 2 2+4V-1 &3 100 100 40| 4 15 34 V= vJ -140 80 6.0
13 10 24 N= ¢+Q 110 70 70|13 10 24 V= vA -110 6.0 80| 8 12 24 V+2 vJ] -170 6.0 8.0
6 1 INN= ¢+ Q 90 40 100| 3 15 3vO= *4 -140 40 100 1 3 4eV= vJ -420 20 120
3 15 INN-1 v6 -50 1.0 13.0| 7 11 3NO= v7 -600 20 120| 5 14 4e V= vJ -420 2.0 120
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8 INN-1 v6 -50 10 13.0|14 4 3vDS-4 &5 -1100 16 10 44 V= vJ
«D1064 Basta kontrakt 23 » EK10963 Basta kontrakt #7632 Basta kontrakt
v K105 24 SD-1-100 Syd vED10 54 S =650 v D75 3v ND-1-100
+D2 Alla + K Ingen ¢ Kn2
#D642 & ¢ v & NT #ED2 ¢ v a N #KD65 & ¢ v o N
4K932 487 N86 477 4 DKn 4852 N 106 11119 410984 & EDKn N8 4856
vKn963 vED82 S86477 v532 v K6 S 106 11119 vKnl0 v432 S 84856
*K ¢1098743 O 5 7 8 55 ¢ E10842 ¢ Kn9753 027222 ¢ K8754 ¢ ED6 059587
#KKn75 #10 V57855 #K95 #Kn73 V37222 «E10 #9874 V59587
& EKn5 474 4 K5
v74 v Kn9874 v EK986
¢ EKn65 + D6 + 1093
#E983 #10864 #Kn32
Par Kontr ut Res Poéang Par Kontr ut Res Poéang Par Kontr ut Res Poang
6 9 INN+2 o7 150 140 00| 6 14 44 N+2 42 680 140 00|15 5 2vS+1 #A 140 140 0.0
4 15 2NS= &5 120 120 20| 7 10 4vS+1 ¢A 650 110 30| 8 3 24V-1 vQ 50 11.0 3.0
5 14 2#S-1 v6 -50 80 60|11 16 44 N+1 &7 650 110 30 9 1 24V-1 v5 50 11.0 3.0
7 2 3NN-1 v8 -50 80 6.0|13 12 44 N= 3 620 80 60|11 16 3vS-1 *A -50 8.0 6.0
8 12 3#S-1 ¢+ K -50 80 60| 8 3 24N+3 ¢7 200 50 90| 2 4 laV= *6 -80 60 8.0
13 11 3NS-2 &5 -100 40 100 9 1 14 N+4 &7 200 50 90| 6 14 24 0= vA -110 3.0 110
1 3 34 N-3 T -150 10 13.0|15 5 24 N+2 7 170 20 12013 12 24 V= v5 -110 30 110
16 10 3+ S-3 v3 -150 10 13.0| 2 4 14 N+2 o7 140 00 140| 7 10 24 V+1 v5 -140 0.0 14.0
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